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QUESTION 1

What is the Inkmtd process responsible for?

A. Monitoring links for any bandwidth saturation
B. Processing performance SLA probes

C. Flushing route tags addresses

D. Logging interface quality information

Correct Answer: B

QUESTION 2

Which two configuration tasks are required to use SD-WAN? (Choose two.)
A. Add one or more members to an SD-WAN zone.

B. Configure at least one firewall policy for SD-WAN traffic.

C. Specify the outgoing interface routing cost.

D. Specify the incoming interfaces in SD-WAN rules.

Correct Answer:. AB

QUESTION 3

Refer to exhibits.

Exhibit A Exhibit B

config system global

set snat-route-change enable
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Exhibit A Exhibit B

FortiGate # get router info routing-table details
K - kernel, C nnected, S - s
0 - OSPF, IA - SPF inter =]
N1 - OSPF NSSA ernal tyr
E1l - OSPF external typ S
i - IS-IS, L1 - IS-IS leve 2 5-1S5 level-2,
* - candidate default

[1/0]

- [10/0]

; portl
ted, port2

Exhibit A shows the source NAT global setting and exhibit B shows the routing table on FortiGate.

Based on the exhibits, which two statements about increasing the port2 interface priority to 20 are true? (Choose two.)
A. All the existing sessions that do not use SNAT will be flushed and routed through port1.

B. All the existing sessions will continue to use port2, and new sessions will use portl.

C. All the existing sessions using SNAT will be flushed and routed through port1.

D. All the existing sessions will be blocked from using portl and port2.

Correct Answer: AC

QUESTION 4

Which three performance SLA protocols are available on the FortiGate CLI only? (Choose three.)
A. tcp-echo

B. icmp

C. twamp

D. udp-echo

E. smtp

Correct Answer: ACD

Command output from a fortigate:

FW-01 (test-health-check) # set protocol
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ping Use PING to test the link with the server.

tcp-echo Use TCP echo to test the link with the server. udp-echo Use UDP echo to test the link with the server. http Use
HTTP-GET to test the link with the server. twamp Use TWAMP to test the link with the server. dns Use DNS query to
test

the link with the server. tcp-connect Use a full TCP connection to test the link with the server.

ftp Use FTP to test the link with the server.

QUESTION 5
Refer to the exhibit.

Multiple IPsec VPNs are formed between two hub-and-spokes groups, and site-to-site between Hub 1 and Hub 2 The
administrator configured ADVPN on the dual regions topology

Which two statements are correct if a user in Toronto sends traffic to London? (Choose two )
A. Toronto needs to establish a site-to-site tunnel with Hub 2 to bypass Hub 1.

B. The first packets from Toronto to London are routed through Hub 1 then to Hub 2.

C. London generates an IKE information message that contains the Toronto public IP address.
D. Traffic from Toronto to London triggers the dynamic negotiation of a direct site-to-site VPN.
Correct Answer: BD
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